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\startgoban [calculate=yes]
\newboard

\move [black] {3}{2}

\move [white] {4}{5}

\move [white] {5}{4}

\move [black]{5}{5}

\move [white]{5}{6}

\move [white]{6}{5}
\drawboard

\stopgoban
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\startgoban [size=small]
\newboard
\stone[black] {3}{2}
\stone [white]{4}{5}
\stone [white]{5}{4}
\stone[black]{5}{5}
\stone [white]{5}{6}
\stone [white]{6}{5}
\saveboard{one}
\drawboard
\stopgoban

=~ Ut O N 0o ©

2
1

3C

./

)

ABCDEVFGHJ

\startgoban [size=small]
\newboard
\stone[black]{4}{3}
\stone [white] {5}{2}
\stone [white] {1}{3}
\stone[black]{7}{4}
\drawboard

\stopgoban
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\startgoban [size=small]
\useboard{one}

\stone [black]{8}{7}
\stone [white]{8}{8}
\stone [white]{9}{8}
\drawboard

\stopgoban

\startgoban
[size=2,
calculate=yes]
\newboard
\move [black]{1}{1}
\move [white] {2}{2}
\move [black]{1}{2}
\move [white]{2}{1}
\drawboard
\stopgoban
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\startgoban

[size=small,

option=sgf]
(;C[First move in game 123]B[aa]
AW [aa] ;W[bb] (;Blcc] (;B[dd];
Wleel [££]1 (;B[££]);Wlggl)) ;W[hh])

\stopgoban




\starthexgame [size=7]
\newboard
\player[red] {4}{1}
\player [blue] {1}{7}
\player[red] {4}{2}
\player [blue] {2}{7}
\player[red] {5}{2}
\player [blue] {3}{6}
\player[red] {6}{2}
\player [blue]{4}{5}
\drawboard
\stophexgame




